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- URIEV BN - R4 9,766 A
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- R A LLEE ANHL - BEEEE L 20,428 A

- A A LA 0 400L

-1 A1 HEHHEHE - 1L.TL/A - |
UAEFHE 0 3 HIC 1A & RE
= K M VRERL = 400 ~ 1.7 ~ 3 = 78
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- JUERRIRER (FEATSY) = 19,500X12.89% = 2,500 b (FAGHEES SV A)
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VEEE=IREE-ANTHE-FEA ETFREIX (1 HEEAR—X)
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TR RO E | FRI - F I oKE
AR 18,421t - 73,124t @
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RN o
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BAETFES 5 m
VEEA—REG 1
ALER I 3 4
AR 6,140t - 24,374t -
A ALPE B - @ ©
N XY 20,736t @ 67,956t @
e AR 12,281t - ® 48,749t @
IR -
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O & : R OHEET R + HEAMOHEE R = 14,171 + 4,250 = 18,421
OB E - RO + a0 7 ) — FROHEEE + SBOHEE &
=15,323 + 41,613 + 5,272 = 62,208 k>
QAR DAERALFRE: © 18,421 + 34E = 6,140 kv
OB DAERLFE - 62,208 + 34 = 20,736 k>
@R DR © 18,421 — 6,140 = 12,281 >
OB DEFEE : 62,208 — 20,736 = 41,472 b
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D& IR OHEET R + HEAMOHEELE = 58,752 + 14,372 = 73,124 v
OFNRME : RRHOHRE + a7 U — RO HHE + &BOHGE
=47,906 + 138,395 + 17,565 = 203,866 >
QY OIERLEEE: : 73,124 + 34 = 24,375 b
ORRY DERLEEE: : 203,866 + 34 = 67,956 k>
DAY DOERGE : 73,124 — 24,375 = 48,749 F
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+ PR O HE | )1 - F I OKE
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Fefb T =R °
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RHBUF B 0.26 t/m3
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BAETFES 2 m
VEEAR—REG 1
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EREE
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OARRFE A OERE : 1,469 X 36% = 529t
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OAME B OERE - 4,729 X 36% = 1,702t
WE DOERR : 4,729 X 64% = 3,027t

12




(3) RIE VB R HE R RS R
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- WM 12,281 + 0.4 + 5 X (1+1) = 12,281 m?
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= Gt R B O E 2 E R+ B O E LB R+ A AN— R
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